FARHES S—FTEFOE

20194E6 A10A(A)

FEGC

=R EF4 ilT#T [OUT| IN |TOTAL
188 &F FEM 40 39 79
2 BHF #X fasE™ 38 42 80
3EH it et 40 41 81
4 4 R BT 41 M 82
5 iR 1EE WEM 4 4 82
6 B Flx £ Tl 44 39 83
7/IhMNE R BEEHH 43 40 83
8 Ht JE— eti] 43 40 83
9FEHE = mR™ 42 4 83
10HhE = eti] 42 4 83
nK =2 FEM 42 4 83
12 &/ IE— KiEgEMm 41 42 83
13 EBE F1T mR™ 41 42 83
14 E5H B ES 25 o] 41 42 83
15 g &% MR 45 39 84
16 #5K Hak tEa™ 42 42 84
17 BBk E% ™ 42 42 84
18 FE —= ARm 41 43 84
19 FIy FHE FEH 41 43 84
20 FEfE 1E2 FEM 39 45 84
21 EE = fatE™ 43 42 85
280 ® INFHKH 44 42 86
23 ¥AIR RERE kv 43 43 86
24 Beh & ™ 42 44 86
25 X R RAE 42 44 86
26 ;IEE = EiEh 42 44 86
27 LA ¥FHE™ 45 42 87
28 #5K HIE il 44 43 87
29 Z4 A EXk WP 43 44 87
30 B HEX BHM 42 45 87
e - fasE™ 45 43 88
32 &R AX etii] 44 44 88
32 /K EA M 44 44 88
BESH T A 42 46 88
34 HE R EN#a™H 42 46 88
36 HIF KE mlE™ 48 41 89
37 At #15 IR 46 43 89
38 Fith IEE FEM 45 44 89
9 BR EE HrFH 43 46 89
40 B BZE REE 48 42 90
A ERE B =Nl 46 44 90
42 INFR ER ntam™ 45 45 90
43 BBl B=E MR 42 49 91
44 INFG RS ke 48 44 92
45 EH FEH 49 44 93
46 IR 1E% INFHKTH 47 47 94
47 FW B ARM 47 49 96
48 N & mR™ 46 50 96
49 A1 BHME XET 46 51 97
50/ hE BEXB /N\FKHE 53 45 98
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FARHES S—FTEFOE

201946 H10A(H)

FEGC

JE 4L EF4 HlT4F |OuUT| IN [TOTAL
EiE FIF HX FEH 0 0
RE FiE BEE mEEh

RE Fk 1EFR AR

RE B2 1 =0

REWH RE Fomh

RFE FE % MR

RE mk & fntE™
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